EB-2022-0150:1: Cathy Galler

COST CLAIM NUMBER SUBMISSION DEADLINE DATE CLAIM STATUS

513 July 04, 2022 Approved by Finance

EB# OTHER EB#S PHASE #*

EB-2022-0150: Rates: QRAM: Enbridge Gas Inc.

INTERVENOR INTERVENOR COMPANY*

Galler, Cathy; +1 (416) 369-4570

cathy.galler@gowlingwlg.com

Industrial Gas Users Association,
Ottawa: Corporation

INTERVENOR TYPE
Full Registrant

HST RATE ONTARIO EXCHANGE RATE COUNTRY

13.00

HST NUMBER LATE SUBMISSION ALLOWED EXTENSION DEADLINE DATE

89659 3323 RT0001 No

<u>PARTICIPANTS</u>

				Participant
New	Non-Filing Participant First, Last Name	Filing Participant	Total (\$)	Claim Status
No	,	Mondrow, lan; +1 (416) 369-4670 ian.mondrow@gowlingwlg.com	1,789.92	Submitted
No	,	Galler, Cathy; +1 (416) 369-4570 cathy.galler@gowlingwlg.com	22.60	Submitted
No	,	Young, Valerie; +1 (416) 622-9449 x.104 valerie.young@askjupiter.ca	1,638.50	Submitted

ATTACHMENTS

Attachment	Attachment Date	Participant	Document Type	Claim Type	Import Message
IGUA EB-2022-0150 Cost Claim 062920221140.pdf					
TOTAL LEGAL/CONSULTANT/OTHER FEES	TOTAL DISBUR	RSEMENTS			TOTAL HST

TOTAL CLAIM TOTAL AMOUNT AWARDED

3,451.02

3,054.00

REASON FOR REASON FOR DISALLOWANCE - 2 DISALLOWANCE - 3

MAKE CHEQUE PAYABLE TO Industrial Gas Users Association

SEND PAYMENT TO ADDRESS ATTENTION

851 Industrial Avenue, P.O. Box 30

Ottawa, ON K1G 4L3

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY
Ian Mondrow

DATE SUBMITTED
June 29, 2022

397.02

Ian Mondrow

CASE COST CLAIM

EB-2022-0150 : 1 : Cathy Galler

INTERVENOR NAME
Cathy Galler Cathy: +1 (416

Galler, Cathy; +1 (416) 369-4570 cathy.galler@gowlingwlg.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Enbridge Gas Inc.

Mondrow, lan; +1 (416) 369-4670 ian.mondrow@gowlingwlg.com

EB-2022-0150: Rates: QRAM:

NEW PARTICIPANT No NON-FILING PARTICIPANT F. NAME NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE

YEAR CALLED TO BAR 1991 COMPLETED YEARS
PRACTICING/YEARS OF
RELEVANT EXPERIENCE

DISBURSEMENTS

HOURLY RATE

HST RATE

31

CV STATUS (FOR

Legal Counsel

CONSULTANT/ANALYST)
CV Required

LAST CV DATE

CHARGED

13.00

HEARINGS Yes **CONSULTATIONS**

No No

Discovery	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Tota</u>
Preparation of Interrogatories 330 13.00	Review Application and Evidence						
Preparation of Interrogatories 330 13.00 Review Interrogatory Responses 330 13.00 Technical Conference Preparation 330 13.00 Technical Conference Attendance 330 13.00 Technical Conference Follow Up 330 13.00 Issues List Preparation 330 13.00 Attendance at Issues Conference 330 13.00 Intervenor Evidence 2 13.00 Preparation 330 13.00 Interrogatory Responses 330 13.00 Interrogatory Responses 330 13.00 Interrogatory Responses 330 13.00 Preparation of Witness(es) for Attendance 330 13.00 Preparation of Witness(es) for Attendance 330 13.00 Attendance at Presentation to Panel 330 13.00 Oral Hearing 330 13.00 Preparation of Settlement Proposal 330 13.00 Attendance at Oral Hearing 330 13.00 Written Submissions	Review Application and Evidence	2.20	330	726.00	13.00	94.38	820.38
Review Interrogatory Responses 330 13.00 Technical Conference Preparation 330 13.00 Technical Conference Attendance 330 13.00 Technical Conference Attendance 330 13.00 Technical Conference Follow Up 330 13.00 Technical Conference 330 13.00 Technical Conference 330 13.00 Technical Conference 330 Technical Conference Technical Conference							
Technical Conference Preparation 330 13.00 Technical Conference Attendance 330 13.00 Technical Conference Attendance 330 13.00 Technical Conference Follow Up 330 13.00 Technical Conference Follow Up 330 13.00 Technical Conference Follow Up 330 13.00 Technical Conference ADR			330		13.00		
Technical Conference Attendance 330 13.00 Technical Conference Follow Up 330 330 Technical Conference 330 Technical Conference 330 Technical Conference 330 Technical Conference Technical Conference 330 Technical Conference Technical Confe					13.00		
Technical Conference Follow Up 330 13.00					13.00		
Sause List	Technical Conference Attendance						
Preparation	Technical Conference Follow Up		330		13.00		
Attendance at Issues Conference 330 13.00 Intervenor Evidence	Issues List						
Intervenor Evidence	Preparation		330		13.00		
Preparation 330 13.00 Interrogatory Responses 330 13.00 Preparation of Witness(es) for Attendance 330 13.00 13.00 at Hearing Settlement Conference / ADR	Attendance at Issues Conference		330		13.00		
Interrogatory Responses 330 13.00 Preparation of Witness(es) for Attendance 330 13.00 13.00 at Hearing Settlement Conference / ADR	Intervenor Evidence						
Preparation of Witness(es) for Attendance at Hearing 330	Preparation		330		13.00		
at Hearing Settlement Conference / ADR Preparation 330 13.00 Attendance 330 13.00 Preparation of Settlement Proposal 330 13.00 Attendance at Presentation to Panel 330 13.00 Oral Hearing 330 13.00 Preparation 330 13.00 Attendance at Oral Hearing 330 13.00 Submissions 1.80 330 594.00 13.00 77.22 671.2 Oral Submissions 1.80 330 594.00 13.00 77.22 671.2 Oral Submissions 330 13.00 77.22 671.2 Other Attendance at Oral Submissions 330 13.00 77.22 671.2 Communication 330 13.00 17.16 149.1 With Client 0.40 330 13.00 17.16 149.1 With Other Parties 330 13.00 17.16 149.1 Motions 330 13.00 13.00 149.1 149.1 Prepare Submissions on the Moti	Interrogatory Responses				13.00		
Settlement Conference / ADR Preparation 330 13.00			330		13.00		
Preparation 330 13.00 Attendance 330 13.00 Preparation of Settlement Proposal 330 13.00 Attendance at Presentation to Panel 330 13.00 Attendance at Presentation to Panel 330 13.00 Oral Hearing 330 13.00 Attendance at Oral Hearing 330 13.00 Attendance at Oral Hearing 330 13.00 Submissions 1.80 330 594.00 13.00 77.22 671.20 Oral Submissions 330 330 13.00 Attendance at Oral Submissions 330 13.00 Attendance at Oral Submissions 330 13.00 Other Attendance 330 13.00 Other Attendance 330 13.00 Other Attendance 330 13.00 With Client 0.40 330 132.00 13.00 17.16 149.10 With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 330 330 Attendance at Hearing on Motion(s) 330 330 Attendance at Hearing on Motion(s) 330 330 Attendance at Hearing on Motion(s) 330 Attenda							
Attendance 330 13.00 Preparation of Settlement Proposal 330 13.00 Attendance at Presentation to Panel 330 13.00 Oral Hearing 7							
Preparation of Settlement Proposal 330 13.00 Attendance at Presentation to Panel 330 13.00	Preparation				13.00		
Attendance at Presentation to Panel 330 13.00 Oral Hearing Preparation 330 13.00 Attendance at Oral Hearing 330 13.00 Submissions Written Submissions 1.80 330 594.00 13.00 77.22 671.2 Oral Submissions 330 13.00 Attendance at Oral Submissions 330 13.00 Other Attendance Other Attendance Other Attendance With Client 0.40 330 132.00 13.00 With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00							
Oral Hearing Preparation 330 13.00 Attendance at Oral Hearing 330 13.00 Submissions Written Submissions 1.80 330 594.00 13.00 77.22 671.2 Oral Submissions 330 13.00 13.00 13.00 Attendance at Oral Submissions 330 13.00 13.00 Other Attendance 330 13.00 17.16 149.1 With Client 0.40 330 13.00 17.16 149.1 With Other Parties 330 13.00 17.16 149.1 Motions 330 13.00 13.00 Preparation of Motion(s) Materials 330 13.00 13.00 Prepare Submissions on the Motion(s) 330 13.00 13.00 Attendance at Hearing on Motion(s) 330 13.00 13.00	Preparation of Settlement Proposal		330		13.00		
Preparation 330 13.00 Attendance at Oral Hearing 330 13.00 Submissions 1.80 330 594.00 13.00 77.22 671.2 Oral Submissions 330 13.00	Attendance at Presentation to Panel		330		13.00		
Attendance at Oral Hearing 330 13.00 Submissions Written Submissions 1.80 330 594.00 13.00 77.22 671.2 Oral Submissions 330 13.00 Attendance at Oral Submissions 330 13.00 Other Attendance Other Attendance Other Attendance With Client 0.40 330 132.00 13.00 17.16 149.1 With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00							
Submissions Written Submissions 1.80 330 594.00 13.00 77.22 671.2 Oral Submissions 330 13.00 Attendance at Oral Submissions 330 13.00 Other Attendance 330 13.00 Communication With Client 0.40 330 132.00 13.00 17.16 149.1 With Other Parties 330 13.00 1	Preparation				13.00		
Written Submissions 1.80 330 594.00 13.00 77.22 671.2 Oral Submissions 330 13.00 Attendance at Oral Submissions 330 13.00 Other Attendance 330 13.00 Other Attendance 330 13.00 Communication With Client 0.40 330 132.00 13.00 17.16 149.1 With Other Parties 330 13.00	Attendance at Oral Hearing		330		13.00		
Oral Submissions 330 13.00 Attendance at Oral Submissions 330 13.00 Other Attendance Other Attendance 330 13.00 Communication With Client 0.40 330 132.00 13.00 17.16 149.1 With Other Parties 330 13.00	Submissions						
Attendance at Oral Submissions 330 13.00 Other Attendance Other Attendance 330 13.00 Communication With Client 0.40 330 132.00 13.00 17.16 149.1 With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00	Written Submissions	1.80		594.00		77.22	671.22
Other Attendance Other Attendance 330 13.00 Communication With Client 0.40 330 132.00 13.00 17.16 149.1 With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00	Oral Submissions		330		13.00		
Other Attendance 330 13.00 Communication With Client 0.40 330 132.00 13.00 17.16 149.1 With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00	Attendance at Oral Submissions		330		13.00		
Communication With Client 0.40 330 132.00 13.00 17.16 149.1 With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00	Other Attendance						
With Client 0.40 330 132.00 13.00 17.16 149.1 With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00			330		13.00		
With Other Parties 330 13.00 Motions Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00	Communication						
Motions Preparation of Motion(s) Materials Prepare Submissions on the Motion(s) Attendance at Hearing on Motion(s) 330 330 330 330 330	With Client	0.40	330	132.00	13.00	17.16	149.16
Preparation of Motion(s) Materials 330 13.00 Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00	With Other Parties		330		13.00		
Prepare Submissions on the Motion(s) 330 13.00 Attendance at Hearing on Motion(s) 330 13.00							
Attendance at Hearing on Motion(s) 330 13.00	* * *				13.00		
	Attendance at Hearing on Motion(s)		330		13.00		

Preparation of Application for		330		13.00		
Confidentiality						
Prepare Submissions on Confidentiality		330		13.00		
Attendance at Hearing on Confidentiality		330		13.00		
Decision						
Review	0.40	330	132.00	13.00	17.16	149.16
Rate Order						
Review		330		13.00		
Prepare Submission on Rate Order		330		13.00		
Total Service Provider Fees						
Total Service Provider Fees:			1,584.00		205.92	1,789.92

Attachments

<u>Attachment Document Type Import Message</u>

IGUA_EB-2022-0150_CostClaim_TimeDock ets_IM_20220629.pdf

Time Docket

Hearings, Consultations, Disbursements Attachments

Related Disbursement Claim

Attachment
IGUA_EB-2022-015
0_CostClaim_TimeD
ockets_IM_2022062
9.pdf

Document

Type Claim Type
Time Docke Hearings

Import Message



June 17, 2022

INVOICE: 19851370

Industrial Gas Users Association Our Matter: T986728 EGI QRAM (IGUA22-ON-EGI-1)

PROFESSIONAL SERVICES

	Date	Hours	Imekeeper	Description
RAE - 0.4 CCOM - 0.4	2022-05-30	0.80	lan Mondrow	Review EGI notice letter to OEB regarding upcoming QRAM and rate increase mitigation concerns and intentions; briefing note to S. Rahbar and notes to various IGUA members regarding discussion to inform IGUA's position;

Total Fees for Professional Services

SUMMARY OF FEES

TK Name		Hours
Mondrow, lan		0.80
	Total	0.80



June-28-22 10:31:59 AM

As of June-27-22 11:37:00 PM

Client Code 190123

Client Name Industrial Gas Users Association

Nature of Client Business Oil & Gas

Matter Code T986728

Matter Name EGI QRAM (IGUA22-ON-EGI-1)

Client Reference Code

Practice Area of Work Corporate Commercial (BL01)

Status Open Open and Active

Close Date

Billing Professional Mondrow, lan (1760)

Nature of Work

Tax Jurisdiction Ontario HST (ONT)

	Date ▼	Timekeeper	Remarks	Hours
RAE	Jun 1, 2022	Mondrow, Ian 1760	Review OEB letter regarding early QRAM application filing;	0.1
RAE	Jun 8, 2022	Mondrow, lan 1760	Review EGI application, Jupiter report to IGUA and EGI IRRs to OEB Staff; review Staff and CME submissions;	1.5
SUB	Jun 9, 2022	Mondrow, lan 1760	Draft IGUA submissions;	1.8
SUB	Jun 9, 2022	Galler, Cathy 8440	Formatting and filing April 1, 2022 QRAM letter of comment;	0.2
RAE	Jun 14, 2022	Mondrow, lan 1760	Review FRPO submission;	0.2
DEC	Jun 17, 2022	Mondrow, lan 1760	Review QRAM decision;	0.4
	Total			4.2

Cathy Galler

CASE **COST CLAIM**

Enbridge Gas Inc.

EB-2022-0150: Rates: QRAM:

EB-2022-0150:1: Cathy Galler

INTERVENOR NAME

Galler, Cathy; +1 (416) 369-4570 cathy.galler@gowlingwlg.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Galler, Cathy; +1 (416) 369-4570 cathy.galler@gowlingwlg.com

NEW **PARTICIPANT** No

NON-FILING PARTICIPANT F. NAME **NON-FILING**

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE

Articling Student/Paralegal

YEAR CALLED TO BAR

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE**

DISBURSEMENTS

HOURLY RATE

HST RATE

100

CV STATUS (FOR

CONSULTANT/ANALYST)

CV Required

LAST CV DATE

CHARGED

13.00

HEARINGS Yes

CONSULTATIONS

No No

HEARI	INGS
-------	------

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evidence						
Review Application and Evidence		100		13.00		
Discovery						
Preparation of Interrogatories		100		13.00		
Review Interrogatory Responses		100		13.00		
Technical Conference Preparation		100		13.00		
Technical Conference Attendance		100		13.00		
Technical Conference Follow Up		100		13.00		
Issues List						
Preparation		100		13.00		
Attendance at Issues Conference		100		13.00		
Intervenor Evidence						
Preparation		100		13.00		
Interrogatory Responses		100		13.00		
Preparation of Witness(es) for Attendance		100		13.00		
at Hearing						
Settlement Conference / ADR						
Preparation		100		13.00		
Attendance		100		13.00		
Preparation of Settlement Proposal		100		13.00		
Attendance at Presentation to Panel		100		13.00		
Oral Hearing						
Preparation		100		13.00		
Attendance at Oral Hearing		100		13.00		
Submissions						
Written Submissions	0.20	100	20.00	13.00	2.60	22.60
Oral Submissions		100		13.00		
Attendance at Oral Submissions		100		13.00		
Other Attendance						
Other Attendance		100		13.00		
Communication						
With Client		100		13.00		
With Other Parties		100		13.00		
Motions						
Preparation of Motion(s) Materials		100		13.00		
Prepare Submissions on the Motion(s)		100		13.00		
Attendance at Hearing on Motion(s)		100		13.00		
Confidentiality						

Preparation of Application for	100	13.00		
Confidentiality				
Prepare Submissions on Confidentiality	100	13.00		
Attendance at Hearing on Confidentiality	100	13.00		
Decision				
Review	100	13.00		
Rate Order				
Review	100	13.00		
Prepare Submission on Rate Order	100	13.00		
Total Service Provider Fees				
Total Service Provider Fees:	20.	00	2.60	22.60

Attachments

<u>Attachment Document Type Import Message</u>

IGUA_EB-2022-0150_CostClaim_TimeDock ets_CG_20220629.pdf

Time Docket

.....

Hearings, Consultations, Disbursements Attachments

Related Disbursement Claim

Attachment
IGUA_EB-2022-015
0_CostClaim_TimeD
ockets_CG_202206
29.pdf

Document

Type Claim Type
Time Docke Hearings

Import Message



June-28-22 10:31:59 AM

As of June-27-22 11:37:00 PM

Client Code 190123

Client Name Industrial Gas Users Association

Nature of Client Business Oil & Gas

Matter Code T986728

Matter Name EGI QRAM (IGUA22-ON-EGI-1)

Client Reference Code

Practice Area of Work Corporate Commercial (BL01)

Status Open Open and Active

Close Date

Billing Professional Mondrow, lan (1760)

Nature of Work

Tax Jurisdiction Ontario HST (ONT)

	Date ▼	Timekeeper	Remarks	Hours
RAE	Jun 1, 2022	Mondrow, Ian 1760	Review OEB letter regarding early QRAM application filing;	0.1
RAE	Jun 8, 2022	Mondrow, lan 1760	Review EGI application, Jupiter report to IGUA and EGI IRRs to OEB Staff; review Staff and CME submissions;	1.5
SUB	Jun 9, 2022	Mondrow, lan 1760	Draft IGUA submissions;	1.8
SUB	Jun 9, 2022	Galler, Cathy 8440	Formatting and filing April 1, 2022 QRAM letter of comment;	0.2
SUB	Jun 14, 2022	Mondrow, lan 1760	Review FRPO submission;	0.2
DEC	Jun 17, 2022	Mondrow, lan 1760	Review QRAM decision;	0.4
	Total			4.2

Valerie Young

CASE **COST CLAIM**

EB-2022-0150:1: Cathy Galler

INTERVENOR NAME

Galler, Cathy; +1 (416) 369-4570 cathy.galler@gowlingwlg.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Enbridge Gas Inc.

Young, Valerie; +1 (416) 622-9449 x.104

valerie.young@askjupiter.ca

EB-2022-0150: Rates: QRAM:

NEW PARTICIPANT No

NON-FILING PARTICIPANT F. NAME **NON-FILING**

PARTICIPANT L. NAME

HOURLY RATE

HST RATE

290

SERVICE PROVIDER TYPE

Consultant

YEAR CALLED TO BAR **COMPLETED YEARS** PRACTICING/YEARS OF

RELEVANT EXPERIENCE

DISBURSEMENTS

19

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous 24 Months

LAST CV DATE April 11, 2022

CHARGED

13.00

HEARINGS Yes

CONSULTATIONS

No No

Н	E/	٦⊦	(II)	4	GS

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evidence						
Review Application and Evidence	5.00	290	1,450.00	13.00	188.50	1,638.50
Discovery						
Preparation of Interrogatories		290		13.00		
Review Interrogatory Responses		290		13.00		
Technical Conference Preparation		290		13.00		
Technical Conference Attendance		290		13.00		
Technical Conference Follow Up		290		13.00		
Issues List						
Preparation		290		13.00		
Attendance at Issues Conference		290		13.00		
Intervenor Evidence						
Preparation		290		13.00		
Interrogatory Responses		290		13.00		
Preparation of Witness(es) for Attendance		290		13.00		
at Hearing						
Settlement Conference / ADR						
Preparation		290		13.00		
Attendance		290		13.00		
Preparation of Settlement Proposal		290		13.00		
Attendance at Presentation to Panel		290		13.00		
Oral Hearing						
Preparation		290		13.00		
Attendance at Oral Hearing		290		13.00		
Submissions						
Written Submissions		290		13.00		
Oral Submissions		290		13.00		
Attendance at Oral Submissions		290		13.00		
Other Attendance						
Other Attendance		290		13.00		
Communication		200		10.00		
With Client		290		13.00		
With Other Parties		290		13.00		
Motions		200		10.00		
Preparation of Motion(s) Materials		290		13.00		
Prepare Submissions on the Motion(s)		290		13.00		
Attendance at Hearing on Motion(s)		290		13.00		
Confidentiality		200		10.00		

Preparation of Application for	290	13.00	
Confidentiality			
Prepare Submissions on Confidentiality	290	13.00	
Attendance at Hearing on Confidentiality	290	13.00	
Decision			
Review	290	13.00	
Rate Order			
Review	290	13.00	
Prepare Submission on Rate Order	290	13.00	
Total Service Provider Fees			
Total Service Provider Fees:	1.450.0	00	188.50 1.638.50

Attachments

Attachment <u>Document Type</u> <u>Import Message</u>

IGUA_EB-2022-0150_CostClaim_TimeDock ets_VY_20220629.pdf IGUA_EB-2022-0150_CostClaim_Invoice_V Y_20220629.pdf

Invoice

Time Docket

Hearings, Consultations, Disbursements Attachments

Document Attachment Related Disbursement Claim Claim Type Import Message <u>Type</u> IGUA_EB-2022-015 Time Docke Hearings 0_CostClaim_TimeD ockets_VY_2022062 9.pdf IGUA_EB-2022-015 Invoice Hearings 0_CostClaim_Invoic e_VY_20220629.pdf

EB-2022-0150

Enbridge Gas Inc. – July 1, 2022 Quarterly Rate Adjustment

Review of QRAM Filing for the Industrial Gas Users Association

STATEMENT OF HOURS: Valerie Young, Jupiter Energy Advisors Inc.

Date	Description	Hours
June 6/22	Review of EGI July 1, 2022 QRAM evidence for EGD and Union rate zones	5.0
Total		5.0





Date	Invoice #		
2022-06-13	6233		

For services rendered to

Ship to

Industrial Gas Users Association 851 Industrial Avenue, PO Box 30 Ottawa, ON K1G 4L3

	P.O. No.	1	Terms	Rep
		Net 30		
Description		Qty	Rate	Amount
Services of Valerie Young - review of Enbridge Gas - recoverable	Inc July 2022 QRAM (EB-2022-0150)			
Review of EGI July 1, 2022 QRAM evidence for EGI HST (ON) on sales	and Union rate zones - June 6, 2022	5	290.00 13.00%	1,450.00 188.50

GST/HST No. 713892313

Questions? Call us at 416-622-9449 ext 225 or email Accounting@askJupiter.ca

E. & O. E.

Balance Due	\$1,638.50
Payments/Credits	\$0.00
Total incl. tax	\$1,638.50
HST Applied	\$188.50
Subtotal	\$1,450.00